Plan

-Current : Date
-Name : string
-Description : string

Solver

+Solve(in P : Plannable, in V : void)

Location

-Available : Calendar

Item

-Operation : Operation

Demand
-Due : Date
-Quantity : double -
-Priority : int Operation
-Item : Item -PreTime
-Operation : Operation Customer -PostTime
-Customer : Customer -SizeMinimum : double
-MaxLateness : TimePeriod -SizeMultiple : double
-MinShipment : double -SizeMaximum : double
+addDelivery(in o : OperationPlan) -Fence : TimePeriod
+removeDelivery(in o : OperationPlan) -Location : Location
+clearDelivery () -Cost : double
+getPlannedQuantity () : float Buffer +getFlows()
-ProducingOperation : Operation +getLoads()
-ltem : Item

-Location : Location
-Carrying_cost : double

+getFlows() : Flow
+getFlowPlans() : FlowPlan
+getProblems() : Problem

-Price : double

+getOnHand(in d : Date) : double
+getOnHand(in d1 : Date, in d2 : Date, in min : bool = true) : double
+deleteOperationPlans(in lockedToo : bool = false)

+deleteOperationPlans(in lockedToo : bool = false)
+getEndWhenStartls(in o : OperationPlan, in d : Date) : Date
+getStartWhenEndIs(in o : OperationPlan, in d : Date) : Date
+createOperationPlan () : OperationPlan
+getSuperOperations() : Operation

+getSubOperations() : Operation

+addSuperOperation(in o : Operation)
+removeSuperOperation(in o : Operation)
+addSubOperation(in o : Operation)
+removeSubOperation(in o : Operation)

Flow

-Operation
-Buffer : Buffer

Calendar

+addBucket(in d : Date, in s : char) : Bucket
+findBucket(in d : Date) : Bucket
+findBucket(in s : string) : Bucket
+findBucketindex(in d : Date) : int
+getBuckets() : Bucket

Resource

-Size : Calendar
-Location : Operation
-Cost : double
-Setup : string

-SetupMatrix : SetupMatrix

+getLoads() : Load

+getLoadPlans() : LoadPlan

+getProblems() : Problem

+deleteOperationPlans(in lockedToo : bool = false)

Load

-Quantity : double
-Effective : DateRange
-Name : string
-Alternate : string

-Operation : Operation
-Resource : Resource
-Quantity : double

-Effective : DateRange

SetupMatrix

+isConsumer() : bool
+isProducer() : bool

-Setup : string
-Name : string
-Alternate : string

OperationPlan

-Quantity : double

\/

Problem

+getDateRange() : DateRange
+getName() : string

+getDescription() : string
+isFeasible() : bool
+getWeight() : double
+beqin(

+end()

-Demand : Demand
-Locked : bool
-Owner : OperationPlan

+getDates() : DateRange

+setStart(in d : Date)

+setEnd(in d : Date)

+instantiate()

+check() : bool

+deleteOperationPlans(in O : Operation, in locked : bool = false)
+getOperation() : Operation

+getldentifier() : long

+getFlowPlans() : FlowPlan

+getLoadPlans() : LoadPlan
+addSubOperationPlan(in o : OperationPlan)
+eraseSubOperationPlan(in o : OperationPlan)
+setStartAndEnd(in d1 : Date, in d2 : Date)
+createFlowLoads()

+enableUpdates()

+disableUpdates()

+begin()

+end()

+initialize(

-Name : string




